4,431, 1

S 4% 448 1H
= hyAYA Y =
fa4 i g AALAG SRR &=
AALBATHH YRR T BGR
(% B & =)
¥ B 4 FAMEA
WA B U U T A
A AL B B &% 44 3H24HMK FETT 11 04y
%L BB Ll (B R \iR T 1526 % M 145)
% f 4 % ¥4, 026, 000— [FiiA ]
WmoOAN MR S 54 3A31HG%
F E i k& ¥4, 025, 400— [Fidk] (FHRAE)
(Bf7 - H)
x i e E 1
K % £ Gl A KA
(BR) ik BRI\ I U T 15265 11145 F 660, 000
L OALBM F I WS T IR PIIT )| 2 7 398 B 3 1 3 4,074,
(BR) /ISl P s S0 I UG 12 T 2802 Mt

Ty () e | 55 I\ BRI T 109138 1

5,002,0

¥ B E E B B BB B BB EEEEEREEEEEIEIEEF E ESESEIE

D v o [N

1004301 OZFIY T 2465 N LIRS FHER EO FIAZRIIR Dk TH 5,




